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INSTRUCTIONS TO CANDIDATES

Answer ALL the questions.

Write your answers in the spaces provided on the question paper.

If working is needed for any question, it must be shown in the space below that question.

ELECTRONIC CALCULATORS MUST NOT BE USED IN THIS PAPER.

INFORMATION TO CANDIDATES

The number of marks is given in brackets [   ] at the end of each question or part 

question.

You should not spend too much time on any question.

This paper has 11 printed pages including the cover page.

CALCULATORS MUST NOT BE USED IN THIS PAPER

Answer all questions

1.
Express 0.18

(a) as a fraction in its lowest terms,

(b) as a percentage.





2.
Evaluate


(a)
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(b)
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3.
Sharon is x years old. 

Ali is 7 years older than Sharon. 

John is twice as old as Ali.

Write down expressions, in terms of x, for

(a) Ali’s age,

(b) John’s age.



4.
Evaluate


(a)
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(b)
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5(a)
List the following numbers in order of size, starting with the smallest.
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  (b)
Write down the next 2 numbers in the sequence




405,     135,     45,     ______,     ______





6.


The diagram shows a plank of wood of width 10 cm, height 5 cm and length 5 m.

Find the volume of the plank in

(a)
cubic centimetres,






(b)
cubic metres.


7.
A bank exchanges United States dollar for British pound at the rate of 

1.60 dollars to 1 pound.

Calculate

(a) in dollars, the amount received for 140  pounds,

(b) in pounds, the amount received for $660 by a customer who had to pay an extra 2% commission for this transaction.




8.
On a particular day the temperature in Singapore was 30(C and the temperature in London was ( 4(C.

(a) Find the difference between the two temperatures.

(b) Find the average of the two temperatures.

(c) Given that it was 6(C colder in New Zealand than in London, find the temperature in New Zealand.




9.
A bank pays interest of 
[image: image8.wmf]2

1

7

% per year.


How much interest will be paid on $2 500 in 30 months?




10.
The plan of a house is drawn to a scale of 1 : 50.

(i) Find the actual length, in metres, represented by 14 cm on the plan.

(ii) What length, in centimeters, on the plan represents an actual length of 

11 metres?



11.
Simplify


(a)
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(b)
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12(a)
Solve the equation 
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    (b)
Given that p = 2, q = (2 and r = (1,


Evaluate

(i)
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(ii)
(q ( r)(p ( q).






13.
68 is written below as the product of its prime factors.




68 = 22 ( 17

(a) Write 24 as the product of its prime factors.

(b) Find the highest common factor of 24 and 68.

(c) Find the lowest common multiple of 24 and 68.





14.
In an election people voted for one party A, B, C or D.


A pie chart is being drawn to show how they voted.


The sectors representing those who voted for A and B are already drawn in the pie  


chart in the answer space. 180 people voted for A.

(a) Calculate how many people voted for B.

(b)
210 people voted for C and 60 for D.

(i) Calculate the angles of the sectors representing C and D.

(ii) Complete the pie chart.








    





15.
The number of children in each of 20 families is given below.


(a) Complete the dot diagram in the answer space to display this information.

(b) Find the mode.

(c) Find the median.

(d) Find the mean.

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	




Answer  (a)

































     [1]







(b) Mode = 



     [1]







  
(c) Median =



     [1]








(d) Mean =



     [1]



16.
An aircraft left Singapore and travelled 550 km between 14 47 and 15 37.

(a) Find

(i) the number of minutes between 14 47 and 15 37,

(ii) the average speed of the aircraft, in kilometres per minute,

(iii) the average speed of the aircraft, in kilometres per hour.

(b) The aircraft then travelled a further 850 km at 700 km/h, until it reached Indonesia. At what time did it reach Indonesia?



17.
Safe Superstore is having a sale in which the price of each item on any day is 20% less than the price on the previous day.

(a) Before the sale, the price of a CD player was $300.

(i) Find the price of the CD player on the first day of the sale.

(ii) Find the price of the CD player on the second day of the sale.

(iii) Jane buys the CD player on the second day of the sale.

Find the percentage of the original price ($300) that she saves.

(b) On the first day of the sale the price of a television was $720.

Find the price of the television before the sale started.


  



18.
The figure represents a semi-circle with diameter AB and centre O.


The radius of the semicircle is 3 cm. 






Taking ( = 3.14, calculate






(i) the area of the shaded figure,

(ii) the perimeter of the shaded figure.
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Answer  (a) 	      ,	         ,	          ,              [1]
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10 cm





5 cm





5 m





Answer  (a) 			     cm3	[2]
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Answer  (a) 			     (C   [1]
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  (c)			    (C    [1]
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Answer  (a)  m =                               [2]
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Answer  (a)(i) 			 minutes [1]





            km / minute [1]





      (iii) 	           km / h     [1]





  (b)				  [2]





Answer  (a)(i)     $		              [1]





      (ii)     $                                 [1]





% [2]





  (b)        $        		  [2]





      

















Answer  (i)		                   cm2[1]





  (ii)                                     cm [2]





      





























Answer  (a) 			          [1]





(b)(i) angle for C =             [1]





         angle for D =             [1]





    (ii)
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